www.wikiazmoon.ir

wikiAzmoon

wikiiazmoon.ir

www.wikiazmoon.ir



Lol Joxo

SSolgils ol

YiLG

Dg 0 Mol CSlow gy Mol ol8LSNS S

(03) o5 plal

29

.

b sl

.

&fjlﬁ QJ‘
g O

Ol (oMl (55 540
Sl

Sk s
2555 05 98

4 y9
2> pos
W/¥/4

‘D)lof:i

|

W‘“ JLN— )3—&, 5‘50 (S| XY 6@3}9 5}—;\0‘)—#) u’—b;i

|

J

ag=o3T
3T 09 =5

o

3

3

.

(S0 QeSS
e

o

[

: oalbogls o yloud

:;ol,il.'; ﬁU 9 pU

Yoot g Sliss

Wb YO 1 g1 g5 Smly S

(ot aS e 3 1 0 o 3 sl ol T 03,7 (onges s30T (il Shge g

)
.m"\.Yw‘f
.u.uM.u
an W | &
23308
3al |3
;.or...) *9)
b3
)
wmmmm
s
|.U4
-5
o
k)
lelal2|:
o

"

L Ouwe

&

aiLds \A

.) Y.

aLdo VY

.) Y.

PR (oled 51 19031 (83155 2 3 o S 83 5 01> 3>

R ) g willso jbwo olojl il %0 b e ok 9

g0 3Ly Oy o yil 3 (b

)

o

o
M




Y daxduo 511-A sw)lé Olﬁé‘ 9 Qb)

Tl pINS o 41 €505 88 (P cJole o jilo (Ko iz (sloofly (o

Ol O oud Joe ¢p3 0 p3Y tsinsl o ()

Odges Bk 50 sz o Jly ol e (3835 Sliny (F

085 ol ouiity Jlam Sl (g 3V (58 pdiS o (F

005 (2lols 050 sz (g col o i L (¥

Sl Cawyob () 5lg cbr o SlodS 09,5 plas o

(ko 10y9720) (e 143) (o9 1 28) d(Ceadlo 10lie) (53,8 s 105,8) ()

(Ol :3l5)) (alS 108 ) (o8 0 12) (el 112 (3,53 L) (F

(G951 (oimsdalsl 1) «(lgpd :pad) (odioylody igs) (eellol e gllas) (Y

(0l 1 3asly) (5 oy 1Eand) (A i iile) (Ao 1) (9500 1 le) (F

(05mo hopmy 1 BY Camd) (305 9=l 1yaamigr 59) (09,5 1003 (Lol ) Tl Gy 03ly Wiz (it
(ool yoi :iidlgo) (wylh T : dld) (bl ossld) (sobT :3lgm) (5 kel g2 (3155 ya0)

@ (f Cuia (Y can (Y = O

Sl guzmo (Ko Lojlg 5l 0g,5 plas Hl

Gl 5 Lo = o) Sl = g 5 (o = 5 251 ()

e sl By Sl pgade g zoes - dllo (433 (V

Sliges 5 maled - £,5 5 CiS = (5,00 g - a9 4kl (F

Sb g calin - IS8 ol e - Slu stgal - oSl o (F

$39u o0 U (3ol bl Wiz 1§ oyt 50

oo o i 5 Sl wlgis G T 31 (ro Cgnac g ol oilodly gab g 53 4 Cand (paid ek 3l i Bdlge ol gt [y
9 Cigre gob 4 g O © )90 ol U 5 2T b 1y ()T 45 Wil 9 sl BgBy oo kS G 1 g waled £ lasiusl 35 GoeS &
€l Juolo (Sl Canilio (yon 9 (wly Sy a1y 99 12 9.9 50 (yo el (& yale

S (F aw (Y 5 (Y s ()

j e R 75 )BT BIB 7 & (o 5lsd = (Gogommo (1938 = (St B p0 = L9yl 50 oS> s HUT i jsT sy
Olg3k 5 e - il - o glaaiss - (g a5 ol ()

Lo o Cpatds - Ul G — neo] g Lo jbgo - loasli (¥

Sl - argllle Baiow - slad St )3 - ol el (7

Send slapble )3 - el pul - b ys G - Ll (lges eeas (F

fnl T Joliio goudlym b o &1 Cgmio Lolos y9a JUT 4y 35 plas 5o

(038 Loy i) oo ith sl U gl 51 il s (o O

(S hslew) Gl el Wiglasls g lszems > b 38 51 (Y

(e el (3le) Jdyezr 5 SiosS (S50 (o5 Ll «BBL pd g0 (¥

(Sesgalinls) Slgol cails o550 log, T egslo LIS o0l (F

ST 50 a1y p2is g9 ol JoS (Jg a1y ailiiile gladoghive (139 puws A3 covvrccccnee PR— ol S el pxiy 0,8 40

GBS el (38 ¢ Sgne - ollas (¥ o (599, «s pare ()

_ ol o Bgee o 55 sl cppll 558 (F s e sollas o 5T sl Lyl 3 (F
Sy €Lolod» 435 plaS' )3 «plio 4y O pyoodoy J' g e s &5 ol (di (3] 692 S (L 920 o Sl
S Cawl

oSl ls b (F Jelai G jlome sl ()

asles oshool ¢ 31,21 g (F Sl ol wshl ylis (¥

Sl plas € 21,1zl (31 5E1 cple] coylaiml (wliz» rasl,yT cubls Blad as Slul 8,5 51,8 cud

Pl 3 5 pad Ly y> 5 il oo pL U ©lpo 9 Slgz 9 63k G—ee (I

Pl gl I s g )55 S 51 s S lgides i i SO, ook (@

pod ol Eb— Lo o5 Gl po G0 45 H95R g 1 le ol ¢l (&

) luod Cunnni Ol 32 1 45 (g0 3¢ oS Sl (03 pdlols g Lo 32 3 (0

Pl yhw oy 9 05 e 5l &S 213 w259 oLl 5k g 5L ol & (2

o wallo g (F 2ol gz (Y | P PR A A )| Y

-\

_\0



Y axde 511-A ‘sw)lé uLu.b‘ 9 UL’)

e gl

Sl ool S yd Lobos» a0y 38 plas o «edS lws S5 Iy cplaS clS aS 1) o8 g0 0ly) ddd O s a5 (Slieo a»
s e ol Goghl o ansess (¥ AL w5 plegl o bl ()

e s o Lol el (F Aol Gslol S el ala! (¥

i R oRe 4 axgi b

9 AR 2 Sz 09 oz p o Al w90 glazm Jho 0 pld (o0 plaawd LTy (ol slaalio g 091 eolium] o iy iy
€ 5 o 0l [y o ik o0 91 1 47 3 b Wiwlys oo gl 31 4z b 005 ales g Ly 4 jlugi lgrs & blaes
Flul pIAS i i s il 9 v g (gl Galoar (Goudd JuSUis 5=

Jsrie £ 1)35 G52 (Jorde 4 )35 (52 4 pee 5 Jorie 41,05 (Ji> oz «(G35L) Sy 90 (O

e g Joxdo 40 L3S (S5 )l cJgrie 4 1,35 S (Jorie 4 1)35 (i 4w ((GISL) Sy g0 (F

e g Jorio 40 35 S5z sl s 4 )35 (G52 d (Jorie 40 L3S (S5 A e 41,05 i an (T

Jorie 4 )35 (352 aw a5 Jorio 4 1,35 352 Jlez oot 5 Jordo 4 1,35 S32 Jlez ne 40 )35 (S5 4 (F

Flam! 37 O le plas oo 19SS olows

Wl 1) g 5 sl 1) se IS 4 el ke (O

lod 57 (glos uS (Sla o) wyo 293 s (sl Adgaie (V

s i G Bl I lal o8 (g 54,k Bl (F

ol 58 g, a5 00l 5590 Slogy slocal; 4 5L (F

fabloo fals (21g w13 6llo ool plod 435 plas o

bl (92 g iz iulgs ¢ albloiangd (0,5 mex (F ez Cannd «(60le il (s J ol oo s (F

by o cyaobido g (omolon g kel JUT G5 a9 5,15 9 59,00 ylo 0 3 ogare gloas (b 90 (158 sl plod b oyl 50
9 435 9 (SHlgs dpems SLo3ly S o ol JLiio 4y 9 W1y 0T (sphaisl SIS 4 DS (ghited 6,813 5 (5590 2
£,10 0929 Cubo Wiy «dly ofy (w )l Lol Ho i grdolins

od,lo> (F 03 o (¥ 033190 (¥ o33b ()

Sl adlcdlian oo «lolas» coml 09,5 pIaS 48 ditualy (gdiumnly

&3 S5 eolgil wagiie Glog; slale wy0 )] (slae oS )L’:‘T O

k;..m).e SYlae (gdcgozo ‘@u)lé Slool ey ) oS ol @b (Y

b ) Yz el o9 LIS inu Ladls S sl (Y

O3 e 30 53357 L9950 48500 «(5 X5 (50590 (saalipbly (F

Syl culyd Suso b S glow! 4 Wbl gaod pgiio

390y S5 WSS 35—t G = Sl 51 ()

Cnnitd o2 3gy SilaS0 b a5 Cawd Cargd 5] 5 died 3 (6l (g9 (Y

Ql}ﬁ}lm)éosos&.‘_?u Ql)_i.'_mTL;e)p)'l).l_?)o(\“

WDl 0 Sl . glitiwl 4 Olyl gand o «als J80 j0 Gike ple oS glo wyoed 5T 519l G i pobio

gyl b Sl )8 B> lyy 5l wsS Bde e a5 0 ol ol W8 (Y
oldl ple 20 10 Bivet o xS 55 A ol e Loy Ga e oy (Y
°9%_“JL*~° J8 9 JL—3 5 am 00 )9 )y 0 = edme Ol o 5 mla (F
@ Olyl gaod L« g (LolS )0 5)1 9) &5 Wl 2y (023 U L liame 1 (90 53l 92 Colun SO 930 o p ke

Bl cawliy e, Cow gl
O bl Sty 0310 05l51 S5b pa8 )3 (53, 45 Hs S5 Bl gdw (1
s S 506 S o S e 5 B Sl — LA (Y

Sy i g pl 0 y90 4l oS 8 lop, a5 S ol (f

-1

-y

-1y

\F

-1

Y

-V

-\A

-



511-A sl lpol 5 b5

srowisyd glialoo LS 5l (B asly ybl a9 o1 Slol jael 53k potse

g5 593l) 3l Camloy 095 S & 685 )5 plo—s jl eSS
98,108 cawld Caw plas' b
S Aol g 0 (6555 S Aoy Sy lay S a o ()
o,y o jlaes cég 0 as oy 4 a0 985 e il (Y
s Gl y o2 s 00 o Sl 00 s Camnlgz S 5 (595 S Ay S den (V
Ol ol 5l ogs law (639,5— ol Eopo Lo J sl a il les cnly e (F
Sl Wglaio Wbyl 50 b Cay plaS pgeio
S U g T SV W - Y Lg)‘q_i)_gp_ﬁ)%é)“_;)b.)f‘(\
T B Y TR P L v PRV Y ln)Jolp'-aI{_Aqﬂﬁwo)'o)?(\“
> Sl 09d & (S Gz )l Sydse > ¢ I Ol 5o 5 (F
RUIOW] [P T 3/ S becwl 4 Olol gaon ;0 Luo oL il el S
6)‘°@Lﬁ°°;)j—w)l—.{Q]}‘)—f ada ey, w p o BSew Lo gl ()
‘)LALS“OQL)}:QL:L».:BO?_{A_:)_M:& ‘)L&)J‘)_CuTsi_bgL'aJdatm(Y
S N NI JOII 5 sles 5l Il sl g o o (F
CogunS U 51yl g Como Caniizr gml 5l (10 Folo O35 o 93 (VB Lo ol 5 e (F
W51 (gloo cwld JSuSO b el a0 wlyl g0
poy pd a5l Skaxr v ¢ 5l 05 92 030 Ol ez FF gp B> L bioe Shg 6 ()
SLA b oS wla 5 e S 5 S S b &S oblb e 5 Wl (Y
S (6)l0he 45 g5 ] Gl g e 09 g M 4 S o5 95 b 0 4z e (T
S 1 S sl g el > e, 4 Sa >4 Se > 0 5w (f
3,105 cawlid Cop plaS pogdo b 52 o

)81 o 6,5 wislas 95 g Olgs g Jwlwl g ol a

97y L 05— L5, Jlasle S d3lo yus o Cemn | ladle ()

Sload 3] o mizr )0 55 e ,0 Slss el by 2 a5 C«wﬁimdﬂ)w Shsle (F

S5l A ol geg—t Bl e Cangd &y ol) S s i 39— 5L (T

) Ghas? sles S5 0 S 2 095 Wi & o0 O b (S oo 5o e (F

Flam! cawlico Cas plas b «pads a5 00wS gl (yili 95 (30 O Semo & (609 Bladl 395 1y oI 1iaw patlo
S9d (po JUB)F CnSi (e oo R sad JO (oS 4 poad Jo B ()

Sl colie Jdo oladl oS sols Iy ojad jui Jo as 0,5 conly o5 i (Y

iisloSS S sy Ja o Lo Uasl> Jo Lo L (gols 095 S (Y

Sl goloa 5l 5 e (09 do Sy S 55 055 00 B (F

_Y.

-

Yy

Yy

-Y¥

-Yo



B axivo 511-A s ol
(FF = 1) asgdall o ot of Aol Lgad) (B ) 7l o W
llaali Ulad) gl 5 AT o Cont 1318 aig 3 4 Sgia¥) g3 o »

losds ibge lasl g oolidl gl LSus 511 sl 005 53 55,0 malieys 45 @35 ()
loays )5 (ibse il 5 038l (550 100 2 ol SbL 0 Lo s yd )0 e idsS (Y
lpads B8ge (Sluil 5 028,5 Sl 5,500 51 plplo 0,55 b,y Lo jo j0 1) 095 adssS (Y
lpass 5 (Bse il 5 0285 (cion OIS 2 (i 03,55 ) malgeys 5o 1) (N (8
PR g Pl g el i N (o AY) Lad ) g Lea s

Lsyslise 5 sln 1y ls3 5 cIo 5 bl 1y S o ainly 500 @ 1) 95 azsl 51 AL 3 ()

13,5L5 cdie 5 ool 08 5 Ll w5 0B Sl 3L WS s aily 1500 4y 1, o5 45" asl e (Y

§ oI g wleS s Slul ey b i wesee Bew 0SS A (Shaly Ceon |y g5 ezl (T
lads sale>

BleS g Dylel 0B o ) g eanl o b Gk wlaS e ohSs (Sly g |y § 8 iz 2 bl (8
hass )13 6)ls>

! @AY p Sy ) SKig o (o Gl 1 gl B b S (e ¢y silinny £ VIS Cpalaal) 3 »

155 )9 plaial BB 10 4 i’ 5255 1) 0 p0 b a8 o o0listsl (2o 3 o 5| sl 097 ledne )

133392 (6 s plocil B 500 4 Wigd 52945 3 0 45 WS oo o3liiusl (o )b po 5l eliil g o901 (¥

S (g i az gl B 0,50 4y 0S 51985 1) p0 50 b S o oolittnl ltto 8 Ao 5l (lyely 5 0,5 5500 (F

LS o ooliiaal 3 p)I0 ) sl il 5 p0y0 32925 (5l oo G 1 a8 aitens sl (92 lallne (6

rt @Al ik ) Qgadal 5 g A a dlilg) e sl ) £ L) S ¢ sran (5o »

Sheral, g B,k 4y a5 Wl oK, U] 5 aiile b5 Wit leely 31 Cesys sl a5 Ll ()
136loais

il se 3 ol 4 GEaSCale 5 LK, sled Ll siies Sl aigid so |, sl 3> 3w a5 SLS (Y

il oo 3> Gk 4 ohloaal, 5 oL, oles LT saxten Sl wigniy | slsl o8 Liis a5 LT (v

il ol 4 o, Shae g )8k, e Ll (Jg ileS gty oLl 511 G (5w a5 LS (6

aall e

lesls amlgs o0 o cudle (milasms bl gl s 5o tlaleldl A% () ge diain ol Jaall ()

Sy i slgr b gl Sie 4 s glp 11l o add o s LAl $5a) e Jpeanll (¥
oS (0

DLl 4555 50 i oS el Glel S oz Sodes (e Us) (B oans ) S (e e Bl (Y
sl ooy

5 S ol 5 Lo ol o 45l ) Sobras oy 1Al o3 B ALE Y WS Y o b salend] Bl ¢
lsss &B8ly ol 9,90

-1

-Yv

-YA

¥4



$ axio 511-A e o3
tpspdal (B culiall b oo GO Y pb g Ul ) slghy o VoS 55 o ) G T3

1 saudad o 8 s o oS | sauls (¥ lodas Uy coul s 48 2y S 25T ()

Neel) Olaia¥) ie ¢ jall Gl <oy 8 1035 < yie (5,00 (52,5 ploial o (F

rraal) (e 1,8 o0 3595 w1 (U st g wiSd b LT b dswguy g calild oo g | ulfasSL.;w»y »

uujnjuwu;\d%\y}b;d&\ﬁ\uuh;ug(\

!Qﬁpju&uo\iﬁ;g&lﬁ;} Jall Q_\A.ILAC\\JA-.I‘ (¥
quup}ts;u»”}}mju\ Camy ) (1
'Lm\:\_a}x; ,m(auh \s; JlY) Laay o ¢
il e
1l 153 s B Ul 1 g o Jie g s V5o csligs] O
L) ) saling Uon ST Loall gy Vsl Y damlyss Lis 5l ls 5k T g a5l e (¥
Taalally Ao (pongy D8 ¢l ) S elasS cos cands ola] (59 (0 040 (553 plosl)l aS uS (Y
Dsad) Al i S5 e sl ll S g a0 las ol 5l oyel cp el b > cpege B (8
sl iy Loy (87 — Te) ALl ce cal 28 By G Gl T8

) gy ga L ashy Gl Buad JS 1S L g by L Gl G g of B0 LAY B lle g
dola ¢ 5 i Y g 1y Awidll e ) 0b e o g 20N S o sl S o3 ga JBlad) o)
Ls;iﬁ_u.g.tm b aadle o5 o

o) 035 Y ptd L B pens ‘"*Ae-' 5 1o WIS pgla gl o cuslslay Qali) G LS lia L
Ohal) Gl B oyl 1Y) 138 (hay o ¢ Uaiad o Ui Baar cpaid iy ¥ LSH cda Y) (Bady of oS aa 13
LY asad B4Ry

05 o bl 5 ) b slad Blad) A LAY (B el ol 5 53AN (B b 13 U8 5 sal 0l o
1N g3 5 gaal) odgy ity s g Jhlall g o AT

........ SN il e Al S o3 g Jhlad
il e
LRSS U Giaiy 5 pudl ) e (¥ L) G gz Al iy 520 e LS ()

LA 5 e ol Ll ol sl 5 il ¢ 10 5210080 Ul sl dapni b el sl (1
rrbl asad b g el QIE B Gludly (AN 5 el e WLEAN) b sl e

! ) 5 gyl O

Pad Dy D o AY) ) alay (Y

!oaall &l g .J..:A._IOJ;E 5 Ot ;353 (¥

el Cda e (5 a0 Lala ) pa¥l telidie Jle aciad Y (¢

-

-y

vy

v

-Yo

-



VY axio 511-A << ol

soadl) e‘%&uﬂu&p

telle as 5 ell ag logamall (¥ D omad g pmd) a5 ()
PO AY) oz i) aie (¢ Tl (e Jadl ) 5o (v
(Y4 5 YA Sl B paal) (e

! A L g sheay L Gl e o o W00 L B il (e n

S i — (5 — e (Y sy — (il — 51— 2 ()
S e (G ¢ =T =Ry gl

rlhasal) gile b Andle (o o dola ¢f 5 REY gV Al dllay ¥ lady) Geon »
Sl a0ty _ ay) (v 058 — oA — auds — @l ()

i — Adle — 1 Ui ¢ e — 558 — Jila — Gl (v
(8 = £4) ol Juladl) 5 o) oY) b maaall o
T aley

€O Ara e 5 fiall € paa Aleli [ il o e — Seia — Casal 5 ina ()

Sisall 5t spenm alels 5 e [ o3Y — Chal 5 Jine — (DB Spae  Cilall e (¥

e sl g Alels | il e ine — psbeall e — Y — O e — e o (1
Saa g e 5 st s Al Alealy ¢ finall € ap pacin Alels 5 Jub [ e — psbeall e — e g
1 g

gy axn 0 ¢ stiasall sa» ypann Aleld [ Cisal 5 Jine — Jri Ol e 5 2130 g Jliae Jad ()
Akt Alaad 5 ¢ sl € 5n arn ALl Jid [ e b 0 (B 3 3a — Al gl (¥
S5l pacall Alel 5 5 ye Jub | e — psaall e — Seke — Cielina 5 Jina (¥

Alad Aleall 5 ety aleld 5 Jud [ daie — Gigal 5 e — cilall ¢

PR

g e 5 el [l Gpma — dala (S (s t0d jie) i gen ()

Ggaie 5 gl Cisbh g 4 Jsaia [ Gopeaie — Gijre — Jb G (Y

Cimaia 5 Gladll il [ Cipaia — ome — Jb Glre — ala — il (v

g shn 5 el [ ome — Jb Glme — o) a5 il — iSe gan — il (8

(0r — £F) Al ALY g o gl cauliad e

o shial b Al ol ey Ale cie

Ll e oaxf 5 L) aslaall Gllgs (v 1Ll b Jleall gasifin (DIAYT olall €] 0
el DU g e stinall aaga (¢ oSl il Aeadl oda b Jole pali e (¥

-Yv

-YA

¥4

—te

-£)

-£Y

sy



= o114 2 0k
ey A Uadd) e
o ye Sl oY ) e G (v leli o) We Ll 4l gl 0

ol A i o ay of 4 a6 1oaas Ly 0335 o olsls (v

)k Jgasall G

13 all Lillin 6 Agens 5 4o 281 Lo Y1) el (e Lindil ()

N 4be Joadiy S oasms (ga o Al o aificl oy LD (¥

o) 3 a2 Jae b e 5 (pally il Janes 3 4l Le Jlay Y el (F

Gl 13 b cariy Vot 5 LaSae Loy puainal) Ly i) sl 5y (e Cpaabnall (3 (6

i geaall 2 of oS4 ) Jadd e

(sl pandl GG Liions 555 ()

ey e B3 yadi L)) 58 83 a5 Lol (¥

sl Josd 8 e Lo a5 (F

148 jaal) Cafiall (uad Zadl ope b landl Lilasas 5 g

e e e sl S, Jal g

Neatizld o5 Al 50 353 Y a5 LY i ¥ ETICT I [ IRV TS T IV
1Y ) e WS sl S Talllaey cie (8 La Al of Lal, il Jeel el (v
: Sl i

e 61U 8 aye e e i sla (IS G ()

1 sy Ay Lo e o 28 SIS my IS 51 L5 (Y

e 380 43S0 5 oA G Ui il S 4 callaed (e caiiant (v

s ey Lo oy ¥ (o e Gl aelasy S8 Janll 08 il ] 6

agielind 53 Y] Gl e Gl Y )

Leligh 55 ) yally 55 slas Ala ya Y1 sLall Ja (v

laliad Y] sa Y 545 Y] iy Y o s e (v

13,0l cye abaaze Ugd V] 4 S5 o) 9 aShoule 08 03 &3] (¢

)il qslad 4 Ladl) e

1y §f Jiad 532y 3ea ol 7 el ) Ll (¥ 105503 o) il 505 13 fsalee ()
sn ile of any Jaall il it 9 Ll (¢ S ally ol gie 550 AliSay b ¢ 3k Sl (1

—£¢

-¢0

-1

-ty

—£A

—64

.S



q axio 511-A @)Lw' d)kojumﬁ
T o0 Comwd @ s S popdo 50 B 3« iy 3T pllis (g yladua»

2V g Slsleidl (B e & gran dll ol 5 ol ()

seaedl il J g (o, g Slslendl Sl bty (¥

Ogala pei) SLYI Jads sl VI SIS bl 5l Lo (Y

) ) ) oY Slglewdl 8 o ol & g cyga alll o sl (F

b pans 6T b T 39 e 51 Jud ) I & il R0 10,55 5155 50 e ) hslods0 45 pdludlisle e plof s o
$3 18 Cowlio a1 plas oly

Ty Lo olilamed anlis zlocal ik cye yLud¥I Lials Ul ()

e 0bY SIS 3l ae e 2V (8 Lo g Olgloand] (8 Lo ST 5eag (Y

o Sllall o o U3, 9 el g Sl (B oo Llo g pol (o Lo 87 iy (¥

Gl &l o (s (S el (B9 UV (B L] ooy (F

d.iuUaa ul.'a.wsw‘ ............ 9|)l5 aJ)...S.g |) ............. PLﬁ.ﬁ‘st wﬁ ‘) P"T u|..b))345w| aé;al.g' ..\.af,.w uUa...w
’ 19550 995 'S s o

& ras ol Lo g 0S5 pas Ul Lo pSudil lgagl 5 (Gg0gliMd - Lis cpols i Loy g ol (ailais b g (bogs ()

I el oSSge0 Gl bl e oSle (I G L - by (slaose g 0ld 5 (13,5 dwgasg - (I 2 5 (hogS (F
0_5).»4@4. l‘“"’"‘ Lo 9 ‘QS.>).,4~ Ul L M‘ ‘9.45J 9 L;’}QBJJ)LQ_ L.u} ué‘é ULNJ LJ) 9 U.».Ma‘)"_ LSQ’” olf)é )‘ L)"\‘“’ oJJ‘) Y

u;] rianld (ST ge0 Q‘ M Olaks pe o SCle 6’ OB L g - (g, slroas 4 Q\o 9 30,5 dwgug - se,” ol8 0 5l O ousl, (F

o iglas u.\.ﬁ‘.b‘sn )ig‘.b e o @ glads o 3l JWG! gl sWgi |, QT ) ..\.u|.>‘5w J.\J) ubb I J).o as «o,.z.er“»
.............. G Msnulbg;’y’b

Dl o0 (saaie 4 g0 o ols sl K oo o 1y )3T g Lis Jolate gasS (Y

S, Las a0 e Jo b GBlie « 5 o 5l s plle @ slaziel a5 ailegay oyl oo 4 (Y

s 3l Caods 5 4 Solie a5 auSOLS! oS lgen o Ban] gl 1) sBe S ol (F

@« B> gandS 3l g Cowl o 45 33,5 o potio € yglond w8 Loy Ladllghs of WSouke oMw (yalgi? :gads pib s T H0 o 5
2 GO(S reeeeeeees

Lss b 9, uJS bLs ) é}a§_ s QT 3 w?b oolaiwl &y (g plin, Cuigy 4 09,9 (il uliw)s soo%a (Y
<)) 8B il gaslol - Qljl ‘SJLJQ s S5 JLo.C‘ LI ‘Qlfl.i 6‘)‘.‘ o i 4 3959 ¥
79, sl el gaslsl - lacwas o 5l Hlasgl> (geslitul 4 (6 sl ) Caivg 45 39,9 (iiie 4 5,8 (005 (F

Ll e Clig 45 0595 20 oD ) Cliede onnrennn 3,1 GRS €D gurn g Ju (Gogw 3 (K g AMF 4igF b 45 L]
093242 oV (B g plie (nip (1 Olgy - plie (2 in (V- plgd; - 4250 (o Y6 ()

1915 3 lo! w3139 g nSUlgnosrad (il of wldl wd JB ol iylo i co o5 ol pos JT VY sy pib sl &y g b
.............. 145 WSS oo 595 105 4 LS « S gl o5 g bl Lo

IS SaS T leg) 38 4 565l e Lalse ()

Al 855 oyl 1 ol 43 (Sl K 5 ool (¥

aadioly Jo ay gwlie et ade leds Dasg (Y

s )18 393 Gleal A3l (sl (slakowg 1) wiglas 5l Bes (¥

Cal yhiio 609l 5 (w3l Uiy 9 (S5 lawgd g 035 o0 (S b I obdyy GOl islze sol> 4T plus ply
ol o0

Al LS piguz Tolas! <l 090 ua..\.xw..; e u,ul.w;.ﬂ oo 9O

gy 5 3> 0 (5355 Y1 poall 5 Al (y95afy Lagbacs (¥

L o5 A 082y 0 5 ooyl 8 53gall U121 ade oSILLl Y 5 (¥

mey ooi bl 5 oS oSDpiky gl oSy (gaslé bl (502 5 o) B (F

«wie g Blaer HLe G0usdS i g Sl e [ Y 3 s icad 5 A« gy KD g ol g € iligy A (g 5P
RG] I 9; B (ua) ﬁBLw‘ ‘sobf ).a.oLu UL"" LY Jé B ul.w‘ ‘5'-')-'-“' uuLwD‘ 9 TCIW) I LbuLmJ‘

Oleyeal 4 oSS J 708 - conlin gy - alyz S i ok ()
Oleyeal 4 oSS J 718 - cenlin (iudigy - Oyl - el S 3 (Y
Slas 516,10, 0 - 09y0 Olenl - @alsz S8 o jlad (Y
Slie 5113595 5= 09,0 Sleal - S ykad - waly> S 3 (F

-0

-0y

-0Y

-of

-0

-0f

-ov

-0A

-84



Vo axo 511-A okl B )leo g S48
e ol «Cawl ciludl golg 4 9959 9 (5 Lbgd g 6 low Al (ludl Jlaio 0,0 g dcud ((Jgrleo JoP 109 aiaS S|

............ 14 Sl o 3l

o (Jgrin 3 9 Slhsl g asass 5l JB 558 Ll O

e (b (S5 5 0055, SLajls 5o jpaze Ll (F

el Sgliie g piiie (Ll 05039, 9 (S5 slasls (F

Al s > dgaste 4y Wilgh ced (g ludl Judo 4y Ll (F

RO N K5 PR SAR p AT play A el neeee (ylod B 0 L (Cyamns § AigS? B 40 1) 395 4AS i oL gl

oslal] tales SV bl S5y wgasld (yiekas g lyiel il - Sui; ol (S ()

bl yralas U, SINT Al Sy oausld pialas g Iyl oyl 2 5055 55 Liel,T g il ol (Y

ST o 4l g 5 Ly o Bl Gl B 45, oo T acde 3TV o815 5 ol gl 5 (S35 ol S (T

Al o s Ay on ) B e & ade S5 Y g 19 cud s 5 - (S5 58 el 5 ekl el (F
bl oye

5 oIS b e i 5 41 €ola 0 0 S 5 Bl Cols Slmb 5 €lo) B 53 ! alled i (I 4SS 00

] oDl g 5l ailo sLjls a1 (o295 Fmly Lol (S Sluif

el pllas g oSl Skt B g ol e 5 ) pads ()

oS (relats lsd d92g - B 5 el Line 5 g, pods (V

oS melatd (pilgd S57g - s slasls 4 Az g (e 0 ol lajls 4 4z (T

el pllas g (Sl Sllas o e lagls @ a2 g ee o ol lajls @ a2 g5 (¥

009S 1543 33 5l38 (T 31 4T 09T (p0 59, 4 whe 31 (550 IS Jgar idyleyd co oF Ml ke e (Lo yaal ol o2l 5]

............ 145 00,5 o0 b yo ol o0

el Joo (@M g Gloal (54250 4 bgr o 5 (Soine CuVy (sameT Sone Sulaw l Ll (gaieo s ()

sl Joe (2 5 el ()T 4 Js0g ol 5 sl (g0l CuVg (gaomt ggime oy D 5 3 (Y

Sy ol At Goine SoVy g Swl (eSS plle jo Byal g 5o Sya8 5l e wiglas 3 4 S g, (T

bl colae gams gl Colae g g el ol S el wiie 9529 (godd Cauy el ade o ylingeual (F
o

Cowd 3l T (Hly QUL 9 (o>9 (1092 pa3he 9 W B eslaiioo o JUS 53 (o (ULSS (Silaglr &1 5> 1T 3 (SSloglr

00,5 (o0 PRAD cerrrnne ply o cdo jl cdds opl «ouw p OLIT 4 calu il by ely o

St yo ¥ Jgl g Jgma Jllgacbol 5 dbllgadol lgial (2301 Lol L ()

e B llegd) s Tl 1915 o) e 55205 o L (e il (350 5 ) IS it (08 56 1 (Y

e ] e Saany 5 4l Tl b Jais o 3l 5 S5, cp0 Sl U3l Lo iy S g3l b (F

oVly oo Jl 5 olll V5o e 1igh 050 Sy gl (po rafially ol 3l o ol 3! (F

SISl 3 STy ditwr 3 ol g €l 148 (JLiwgd G 53 1) 395 & el Lo gl p195 Jgliws (o 2ly Fgo
Cog Al g anle abtl Lo 105 yoly oy 51 oy 015 & pIS ygouol (ool o 51 oo 7 4 (oDl (51 ) lixo 31 0 a0, o2
@S 5 srad coble 4 58 Joe b - slazel LB 5d glacass jeels ()

ool Jaz g oodosl glaatyail ;5 Gy o - oloel L6 e slocopasd Hsels (¥

slzel Jljaé slacwasd 00 - 2l e85 5 rad cobalo 4 G908 Joe CwgS o (F

ol oz g (oDl laasansl o iy 25 - 2S5 s rad Calale 4 (55 Joe S oo (F

Loy Jla1 5 5L 51 Lo il 03g0,3 4 Ciudo gonid 4 sIadl] dodio ol Uyl Wiyl Al 34 ol & ylae oyl 5o <o
O Y a5 Wglasd x> (3 y3 T v 4 €ilo o0d (R0 § 0duiigy Lo Lol gLl 51 juz> Zd 5 e ST

WS (oo b gl e b 5 g Colaa - gaine 0¥ ()

WS oo 2 gl s b 5 g colan - el Coloa (Y

el Bime 5381 00 ) (5l 5 LBl g iy e - 50l Zalas (Y

Lol Bize (5351 o0 5l 55k 9 CBlis 5 (S e - S5tme oY (F

_90

-

Al

-sY¥

~5¥

-$0

-55



) axiuo S11-A ol B yleo g ST 49
o 9 ol Cdiddis opl 3l (S e, A ] a5 ol Wiglas iy balsg goolyl « Lol 50 » Sl 5 cader
Lol e U 9,5 30 bl Fu )b (gl y ooy gois]

Sz sl S 5 sie (goasis 3l - golall sobe L 2 1 ol Sl s el 8 LS 9 5 )

s 3l pllas o Ll oS> - u,:dl:ajl ol i i 2,V ol Sl asy oyl (B LS ad o (Y

Ol Sl oS 5 ke oty 31 - 55 il 053] 5 oIS ol e 0 i) 331 (03 5 5l gy Jusy) 301 g0 (F
e 3 ol 53 ol oSl = 5 il 0,550 5 a5 sl o o ygdd 33 (v 5 54l gy Jool 531 5 (F

105 sl Gl (0,15 50 B 9 5598 a5 ol Pl pp;y g pow g el ade e plol e &

S )5 055 Sl 25T 5 ey sdnsl i, Jos ()

Bl o aSLiil asel> [Lidl gl g0 5 (S slalsa (¥

gl go Braid o )5 a4 (50 g Cul)y o s )5 4 56 (Y

S o e el st 51580 ol 5 SIS 5 (S Gy oS (F

b, Cowl oy goly 45 e Gole 5 TES 1 AT Sl Gabaly Sl bowsy (5,la8 il
00,5 0
shos = Ber Tré bl )l lgalelg Lo se (Y kot - dem T e dll ol lgalels = Jgbo ()

Sl = elaall bl VI 563Y g Jg>¥ = Jobo (F Sl ol Tl bl Y1 548Y 5 Je>¥ o Lo,e (Y

3 obwil oyl oyl wile g «lus duel ap bl Ly 91).,: 5l Slowswl g yg0l and jo I goolyl g ©yud a4y aBed
JCIIVE) I (Godudic E'S) QT ))b d!m as Cowl QT ........... GAN 30 3O ceeenne LS).MJ a WYT

oS rz - - S oS rz - - JWIQ

1 S UG- B E= g P-4 ) Ol g Ll _ e SIS (Y

9 wiglas sl 5 Jgmy I caolbl «oSCun ya¥l Jol g Joms llgnabol g Al Ignabol lsal o 1 el > 2 gy 1T potpi 4 453
.............. :|).3.)' il s S g ‘54.0)'53 ‘Qrb ol QML’ 3 el

s USM aiglaz 5l el ‘Qlﬂ ol Hed g o, o b oy Qlﬂ Gk sl ! QL‘,)A § a5 - hoe (F

3 SOpIS o a Cpplitmall bl all Gaah g «cpaind Sl gaam SED ogapels (b U5 G b 51 G 2 ply
g I

Sldlo dee o Jae o JL3I(Y S Jes o Jee o SI3 Q)

Slao o doe o Jldl L 15 (F P OV | PY-| R DN | PY- N Q5

rsa] 32 4 ol ply SO 51 (Sl 5 obT plos

ol el 5 I3 Lo o (52 omeidly ()

il e Sole S 3l ol a8 edlly (Y

Lo @555 LoDl &y 0y s 5 cpe g &l > (Bl 5,3V & > g 5 e (F

W&b‘;k}is)wlwu&uw JAAJ‘JJ.: ol b iy el Y (F

LI ‘5‘“‘ ply jo Cdo jl cdds (pl &5 «Cawl ylwge aie ¢u).>| 39 Niglas Cow (y9y sbcwss jl g goolwh

QA.L'GJY9LSOJ‘L)AJ).~.>0).>V‘9J,JBL»)JJ‘6L~QJS(\

ML.O.” Py ML:- L.’JJ‘ DL?L]‘ qu ‘}m‘ u.u.\U < JB (Y

3341 oo Slodall 5 oolead 3t (bl i oy e JB (Y

3 et (Gl 5 @3V 5 ok Lo g lore sebile o ladll 3, o Ladl B (F
Tl wae pac yb g Sob 8 £g) GowsS i «lee plas

s 8 slayles b b oSTL slacde yolocs 8 ()

&Sl g S pol 5 Cigtia 4y lagludl (ol Ggw (¥

@L.M.S‘ LSY‘S Glmui‘.u)‘)l 9 (2 )" Lg)‘}ﬂ soslawl (Y

bl sole a3l ST g o 23108 LS (F

-y

—$A

-$4

-\

Al

-y

-v¥

-Yo



76-

77-

79-

80-

86-
87-
88-
89-
90-

WY axio 511-A ((0908) (ol
PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

It would cost a lot to rebuild the houses ----- in the earthquake that happened a week ago.
1) destroyed 2) were destroyed 3) which destroyed 4) they were destroyed
Fortunately, the storm was not strong enough -------- any serious damage to the town.

1) to cause 2) it didn't cause 3) that didn't cause 4) to be caused

A: Mary fell asleep in the class this morning.

B: She --------- up too late last night.

1) must stay 2) should stay 3) should have stayed 4) must have stayed

He is a very good man, always working hard to help those many poor people living in the ------
--- of the city.

1) outlines 2) slums 3) convents 4) sufferings

I need to ----------- a day off to rest a little bit at home.

1) let 2) put 3) take 4) give

Anna left Germany in the --------- of seeing her family again before they would go away.
1) gesture 2) concern 3) confidence 4) expectation

It was no surprise that she wasn't able to --------- me at first; after all, we hadn't met each
other for a long time.

1) observe 2) imagine 3) recognize 4) speculate

A: How many scientists took part in the conference?

B: --------- 50 ones.

1) Mostly 2) Nearly 3) Primarily 4) Immediately

The teacher didn't answer the student's question, as she thought it was ------- the topic.

1) aware of 2) irrelevant to 3) specific to 4) interchangeable with
After the accident it was a long time before he returned to his ---------- mental state.

1) former 2) useless 3) similar 4) personal

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

Health can be thought of as the condition of being fit and well. The World Health Organization
(WHO), the UN agency that is (86) -------- with health care throughout the world, gives a more
precise (87) ---------- . It says that health is the state of (88) ---------- physical, mental, and social
well-being, and not merely the absence of disease and weakness. In a poor country, however, health
might mean simply getting enough food to stay alive and avoiding the (89) ----------- serious
diseases such as typhoid and cholera. As countries grow richer they (90) --------- the WHO's more
positive standard of good health, because their people can afford better food and medical care.

1) accepted 2) stretched 3) consisted 4) concerned
1) instance 2) sample 3) definition 4) prediction
1) complete 2) straight 3) positive 4) probable
1) firmly 2) really 3) directly 4) actively

1) devote 2) operate 3) survive 4) achieve
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer
sheet.

PASSAGE 1:

Choose a place you want to go to in a way that the whole family will enjoy. Children lose interest
much faster than adults, so when choosing, keep your young ones in mind and make sure there are
activities that will keep them busy and interested.

Going on a long road trip with your kids can be quite stressful if you're not prepared to deal with
the short attention span of kids. Take coloring books, toys, video games, CD's that have audio for
children, food and water to last the journey and other things you would consider a necessity for your
family.

Make sure your family is protected, use seatbelts and child secure seats for children in the back
seat; they have been proven to keep kids safe if you run into some trouble on the road. If you plan
on going camping remember to carry a first aid kit with the essentials.

If you are heading to a place that has been recommended by a friend or from other travel source
and not sure of the how to get there, keep a map of geographic area in hand, it could also be an
answer to the most common question from your kid— "Are we there yet?"

When on a long trip, it is safer to carry sandwiches, fruits, bottles of water enough for the entire
family. Remember to carry a garbage bag so that you don't have to litter the road; it will also reduce
the stops you have to make on the journey, reserving the stops to use the restroom and to stretch
your legs.

What is the best title for the passage?

1) “Where to Go on a Trip” 2) “Road Trip Ideas for Family”

3) “Protection during a Long Travel” 4) “Advantage of Travel for Children”
According to the passage, if you see your kids painting a picture in the car during a trip
instead of looking at the natural views you --------- .

1) may get very stressful

2) should not get surprised

3) have to stop the car so that they can relax

4) must try to get them involved in other activities

You are advised to take a first aid kit with you --------- .

1) if you are going camping

2) because children may get sick easily

3) because roads are not completely safe

4) to help those who may be injured in car accidents

According to the passage, the question, ''Are we there yet?' is one that ---------- .
1) people ask when they lose their way

2) shows the great interest of children in traveling

3) children ask very often on the way to a place

4) shows children cannot concentrate on one thing for a long time

According to the last paragraph, on a long trip, you -------- .

1) are not as safe as you are on a short trip

2) can't do anything special to reduce the number of stops

3) may not find many restaurants on the way

4) are not to throw away unwanted things on the road
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PASSAGE 2:

Several general changes occur in the human body as it ages: hearing and vision becomes weak,
muscle strength becomes less, soft tissues such as skin and blood vessels become less flexible, and
there is a general decrease in body power.

Most of the body's organs perform less efficiently with advancing age. For example, the average
amount of blood pumped by the heart drops from about 6.9 liters (7.3 quarts) per minute at age 20
to only 3.5 liters (3.7 quarts) pumped per minute at age 85. For this same age range, the average
amount of blood flowing through the kidneys drops from about 0.6 liters (0.6 quarts) per minute to
0.3 liters (0.3 quarts). Not all people experience decreased organ function to the same
degree—some individuals have healthier hearts and kidneys at age 85 than others do at age 50.

The immune system also changes with age. A healthy immune system protects the body against
bacteria, viruses, and other harmful agents by producing disease-fighting proteins known as
antibodies. A healthy immune system also prevents the growth of abnormal cells, which can
become cancerous. With advancing age, the ability of the immune system to perform these
protective functions is decreased—the rate of antibody production may decrease by as much as 80
percent between age 20 and age 85. This less-effective immune system explains why an attack of
influenza, which may make a young adult sick for a few days, can be deadly for an old person.
Thus, it is as good for an older person to be vaccinated against the flu and pneumonia as it is for
young people to be vaccinated against childhood diseases.

What does the passage mainly discuss?

1) The way to slow down this process of aging

2) What organs in the human body are more affected by old age

3) The relationship between age and some changes in the human body

4) What makes the human body less able to protect itself against disease
What is discussed as an example in paragraph 2 is true for -------- .

1) the majority of people

2) everyone that becomes old

3) people between 50 to 85 years of age

4) people who are not lucky enough to remain healthy despite old age

Which one of the following is true about paragraph 3?

1) It provides further evidence to support the main point of the passage.

2) It mentions a reason to explain the problems referred to in paragraph 2.

3) it somehow modifies the general idea of the passage by including new facts.
4) It brings in new facts, raising doubts about the main point supported by the first two

paragraphs.
The word "others'' in paragraph 2 refers to ------- .
1) organs 2) kidneys
3) individuals 4) both hearts and kidneys
The last sentence of the passage, ''Thus, it is as --- diseases," includes all of the following
EXCEPT --------- .

1) a comparison 2) some advice 3) disease 4) a change



